I'pammatuka: 40.A: Past Active Participles : Form

C p o KO B O’ ﬁ y p o’ K 40.B: Past Active Participles: Meaning

Texkcr: ...C JKCHIITMHOM, okOHUmBIIeH [IpiHCTOH
4 0 ...with a woman who graduated from Princeton

40.A Past Active Participles: Form

-(B)w-...[cA]
I.  If the masculine singular past tense of the verb has an a, replace it with Bm- (plus the proper CNG
ending). Be sure not to confuse the m1 in past active participles with the m in present active. One trick is to
think of the difference between mpoémbLii past; previous (with ) vs. HacTostmuii real; actual (with m).

As with present active participles, -cs is always kept whole.

Stress is normally the same as the masculine singular past. (Some double- and triple-stem verbs don’t
follow this rule.)

Masculine Past Tense Past Active Participle
(Non-Greasy Zeke) (in various CNGs)
MPOYHTAT MPOUUTABIIAL
cKa3an CKa3aBIIiee
MOy YT MOJTyIHBIITHE
Jain JABIIIHX
JTaBajI JIaBABIICMY
VIBIOHYICA VIBIOHYBIOTHECS
cren CIIEBINNI
KpUJan KpUJaBIICH
HAYAT HaYaBIIHIMH (stress!)
BBITIIIT BBITTHBIITAM

Unlike present active participles, which can only be formed from imperfective verbs, past active participles can
be formed from verbs of both aspects:

HHCA HNHCABIIUMU
HamMCcan HAMMCABIIIYIO
opain OpaBmIue

B35 B3SIBIlIEM
OTKPBIBAT OTKPBIBABIIYIO
OTKPBLI OTKpEIBIIICE
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B. For Greasy Zeke verbs, add just m1 to the past tense, i.e. nuke the B of the ending used above:

Masculine Past Tense Past Active Participle
(Greasy Zeke) (in various CNGs)
MOMOT MOMOT A
yMep ymépuiee (Note shift in stress ®)
HEC Héclas
MPUBE3 MPUBE3IINE
MEK MEKITYIO

(In other words, when forming past active participles, the ending-initial B acts the same as the a1 in the past tense:
it gets nuked by Greasy Zeke consonants, but remains for all vowel stems and non-Greasy Zeke stems.)

@ Form past active participles from the following verbs:
1. mymaii+ 2. Kymi+ 3. momor+ *
4. {Bo3bM+  /B3sH+} 5. nexa+ 6. {ymp+ /ymep+ /ymMepé+}
7. coBa+ 8. {Bcraii+ / BcTaBaii+} 9. BcraH+
10. cmac+’ 11. Gopo+..cs 12. mocMoTpé+

B. [my] verbs can add either m1 or Bu1. (It’s a bit complicated, but some verbs can only take one or the other,
while other verbs allow both endings.)

[Hy] Stem Past Active Participle
MPUBHIK| HY [+ MPUBBIKIITNHN OF IPUBBIKHYBIITHH
WCYE3[HY |+ ncué3nysmas only
JlocTUr|Hy |+ JIOCTUTTIIEE OT TOCTUTHYBIIICS

I'. Exceptions: Some consonant stems in g and T act like Greasy Zeke verbs and nuke the B; others nuke the a/T
and attach Bm. What a world!

Stems in a/T Past Active Participlec
IpUBEI+ npupéaninii (€ > ¢ - don’t ask why)
MET+ METLIYIO
Knag+ KJIABLIKIA (rare)
yoaz + YIABILYIO
yKpa+ YKPABILMX

40-2



40-14 ypokK MpammaTtuka

Again, since it is your job to be able to recognize and translate Participles and Gerunds, you don’t have to
memorize every single form.

. Note: Past Active Participle of uarh (and related forms):

mén ménmuii (€ > e)

npunen npuné/mas

Just remember cymacmémmuii crazy (Literally: having gone out of one’s mind).

gb Form Past Active Participles from the following verbs. (This is a mixed group.)

1. BepHY+ 2. BepHy+...cq 3. {yObit+" / you+}
4. wuatA 5. BEm+’ 6. TIpHUBEHIK[HY]|+
7. ykpag+ 8. 3amaTh 9. mpuiiTh

As expected, Past Active Participles are equvialent to clauses with keTépniii in the Nominative, and, in addition,
they also agree with the noun they modify in CNG:

Tl 3HACTIG KEHIMUHY, TPUHAAISKABIIYTO K 3ToMy Kiay0y? (Feminine Singular Accusative)
Do you know the women who belonged to that club?

You can also pre-pose Past Active participial phrases:

S guTalN CTaThIO O CHhEBIIEM TPHCTA COCUCOK MapHe H3 AMOHuH.
Literally: I read an article about a having eaten 300 hot dog guy from Japan.

gb Put the Past Active Participle into the correct form:

M1 pasroBapuBaiiu 0 4enoBeke, padoTaii- Ha mouTe.

S He 3aBUIYTO JIFOM, CHUMAN- KBapTHpHI B [lapixe.

Ha xoHmépre ObI1a KATOBA-...cH HA BCE IEBYIIIKA.

MeI cTosinu psijioM ¢ pedsiTamMu, He HOCH- MEPUYATKH.

Kak st HeHaBIKY TIpodéccopa, 3acTABH- MEHA HAIMCATH OTPOMHYIO KYPCOBYIO padoTy.
Kto cben maBHO MCTIOPTH-...cq UKPY?

I'ne mapeHns, c1)e3nﬁ- Ha TIOXOPOHBKI?

S He moMOT XEHIUHE, MOBECH- KAPTY HA CTEHY.

D A A o

r r r x (V] r
Kyna nponana ;xéHuuHa, nepaxa- Moi nakér?
10. Hams HakoHEN yIIia OoT Myka, 0e3 KOHIIA pyraii- e¢.
4 x 14 r r (V]
11. Mbl cMesDIMCh HaJl YPOHU- KIIFOUX HA TI0J1 aKTPUCOH.

4 r x Y 4 Y
12. Tlouemy ThI pa3dymun {ecmM- / cma-} B Apyroi KOMHaTE AeTei?
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40.6b Past Active Participles: Meaning

Recall that all active participles are used to indicate what the subject is/was doing.

One significant difference between present active and past active participles is that often there is no single-word
equivalent in English for a Russian past active participle. (In other words, in English you can say The dog
barking at the car belongs to Shania Twain, but not The dog barked at the car belongs to Shania Twain.) Instead,
a whole phrase with ‘who’ or ‘which/that’ must be used. The dog that was barking (that barked) at the car
belongs to Ms Twain.

The difference between imperfective and perfective past active participles is parallel to the difference between
imperfective and perfective past tense verbs:

Imperfective past active participles = who was singing; who had been drinking; who had lived in Moscow; which
was hanging, that was bothering me, that was located, etc.

Perfective past active participle = who bought a new car; who drowned in the lake; who fell in love with her at
first sight; that broke suddenly, which fell off the table, etc.

Compare:
YenmoBék, Bcé BpEM MPephIBABIINN MeHS, HH The guy who kept interrupting me doesn’t
yepTa He MMOHUMAET. (Imperfective) understand anything.
UenoBek, MpepBABIIUI MEHA, HA YepTa He The guy who interrupted me (this one time)
noanmaeT. (Perfective) doesn’t understand anything.

@ Transform these koTopbI# clauses into participial phrases:

1. S uutdn o My3bIKAHTE, KOTOPHIH COUUHSIT CUMGPOHNN.

2. Bl 3HAaeTe IMEBHUITY, KOTOpad IIETa MO0 II0O0HMYyto nécHIo? (Pre-pose!)

3. Owna HegOBOJIBHA ASTHMH, KOTOPEIC HAC HE YBAXKAIOT.

4. Mpunra momomeNn K mapHsM, KOTOpbIe HETABHO MPUEXaid B AMEPHKY.

5. B xopumadpe cToss My>KYiHA, KOTOPBIH HMET HATJIOCTh KYPUTh TUIOXHE CUTAPETHI.

6. Ha coOpanuu OBITH KOPEHIIEI, KOTOphIe YIWIHCh B BéHe. (Pre-pose!)

7. Sl TepmnéTh HE MOTY MAPHS, KOTOPBIH oOHUMAN Marry.

8. S He 3aBUIYIO MFO/IAM, KOTOPEIC BepHYIUCHh B Anbanuto. (Pre-pose!)

9. Tsl 3aMETHII AEBYIIEK, KOTOPBIC CTYYAIH B IBEPh?

—
e}

. MHe OBLIO X4JIKO0 3TOr0 YeJI0oBEKa, KOTOPBIA CKYyJaJI ITO IMOAPYTE.

—
—

. 1o mmomaay rymsin My>K4aiiHa, KOTOPBIN ofamKkuBal BceM JNEHBIH. (Pre-pose!)

—
[\

. Ko mosydin nuceMo oT CBOUX pOICTBEHHUKOB, KOTOPBIE HUKOTAA He IIPHHAMAIN
roMOCeKcyaIn3Ma.
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40.b.1 A Potential Problem with Translating: Relative Tense
Sometimes you can use either a past or present active participle. Consider the sentence:

[podéccop, unTaBnmii IEKIHUIO, MHOTO TOBOPUJ O BOWHE

How should the participial phrase be translated? Does the use of the past active participle indicate that the
professor had (previously) given the lecture but was no longer giving it when he talked about the war? Not at all.
Most Russians (I have asked about this) say that there is no difference between the past active and present active,
as in:

[podéccop, unTaromnmii IEKIHMIO, MHOTO TOBOPHI O BOMHE

If you really want to emphasize that something had been done previous to the main verb, use a perfective past
participle — when possible. If the action is inherently imperfective — as in the above example — the distinction is
more or less lost. Often an adverb is inserted that helps to clarify the situation.

This applies only when the main verb is in the past. If the main verb is in the present, no ambiguity arises: A
present participle indicates that action is still in progress, while a past participle (imperfective or perfective)
indicates that the action is over.

JIéBymka, mpromas HeMEéxoe MuBo, yuuTcs B ['apBape.
The young woman who is drinking German beer goes to Harvard.

JéBymka, miBIIas HeMEKoe IHBO, YUuTcs B I'apBapae.
The young woman who was drinking (but is no longer drinking) German beer goes to Harvard.

To be honest, this can get very complicated. (It has to do with the meaning of both verbs.) In any case, since
your job is to be able to recognize and correctly translate participles, don’t lose too much sleep over this. (A
Ha/ICFOCh, UTO BHI He OyieTe cTpasaTh OeccOHmIeH n3-3a 3Toro.) And don’t forget, these forms are limited to the
written language. (Normal) people do not use them in speech.
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40.B

Past Active Participles: Text ||

Another warning: This text contains an ungodly number of past active participles, and would strike even the most
avid participle lover as “over the top”. Even worse for many Russians are many of the pre-posed participial
phrases. Still, the point is that if you can understand texts like this, everything else will be gravy.

%

Ha musx st mo3HaKOMUIICS ¢ OIHOM ®EHIMHOM o MeHu Harama, okonuuBmeii [IpiiHcTOHCKMIA

yHUBepcUTET. OHA OBLIA OYCHB IMOX0XkA HA OJTHY MOIO CTAPYIO 3HAKOMYIO, BBIMIEAIIYIO 3AMYK 32

Ooraroro u :;kecTtokoro npodeéccopa MOILCKOTO SI3bIKA, CTPaAaBIIEro B AETcTBe Oecconuneit. Tor

OBLT ABAK/BI )KCHAT: B IEPBBIA pa3 Ha OJHOW cyMacmIéaieil KaHa ke, B MPOIIIOM TOTY

YTOHYBIIIEH B 03epe, a MOTOM Ha *KEHIIMHE, poauBIieiica B OpiBiieM CoBéTckom CoOro3e 1

BeIpocieid B Prume. JIéBymika, ¢ KOTOPO# s MO3HAKOMMUIICS, CKa34ia, 9TO OHA B POIILIIOM Oy

Opocuita cBoerd 44CcTo KOKETHMYABIIEro ¢ APYTUMH KEHIMUHAMU MyXa. Tenépb oHa

BCTPEUACTCS C OJTHUM YEJIOBEKOM, JOCTUTTIIHUM (JJOCTUTHYBIIUM) OOJIBIIOTO ycnéxa B OM3Hece.

Haramuna aBoropomHas cectpa, yunsimasics Ha uctdake B Méne, moznakoOMmiia €€ ¢ HTum

YeJIOBEKOM Ha BEYEPUHKE, KOTOPYIO YCTPOUII OJTUH MYXYHHA, BEIPOCIIUA B BOCTOUHOM

2

3

4

5

6

7

8

9

10

11 (3amaanoii) Cubnpu.
CnoBapb

OKOHYH+ YHHBEPCHTET

graduate from a college (No preposition ot in Russian!)

3 | JKecTOKHH cruel

3 | TOT here: the latter

4 | qBaXxIBI twice; two times

4 | cymacmiénmmia crazy (As was mentioned in the lesson, this word is derived from a past active

participle: ¢ from yma mind mémuuii having gone.)

7 | KoxéTHMYAl- ¢ + instrumental Slirt with
8 | moctur[Hy]- + genitive achieve
8 | ycrmeéx success

8 | Or3Hec guess

10 | BOCTOUHBIH east(ern)
11 | 3aIMmaHbIHI west(ern)
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40-i ypokK — [lomalLlHee 3agaHue Umsa

25 YnpaxHénue 1

2 YnpaxHéHue 2
1. ckasdr

3. TpuBHIK[HY]+

5. narth
7. waTA
9. BcraH+

11. {BEIIBII+ / BRITIH+}

2 YnpaxHéHue 3

1. T'nme mapens,

Translate the text into natural sounding English

Form Past Active Participles, when possible. Use any CNG you wish

2. TOBOpHW+

4. cMmesi+...cq

6. {ymp+ / ymep+/ ymepé+}
8. BepHy+...ci

10. méx+’

12. yuiit...cs

Fill in the blanks with the correct form of the Past Active Participle

CBOUX pojauTencii?

2. 51 He yBaxaro 3TUX TOIEH,

3. S BmobGuiicd B IEBYIIIKY,

4. OH ucmoOpTUI KAPTY,

saved

JIEHBIU Y OETHBIX.

stole

CBOEMY JIPYTY.

cheated on / was unfaithful to

HaJ] KpECIoM.

5. Uto BBI 3HAETE O YEJIOBEKE,

6. S 3aBHIYIO 3TOMY YETOBEKY,

which was hanging

Ha KOHIIEPT ¢ YeMOTAHOM?

who arrived

00aBIIOTO yCTIéXa.

who achieved
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